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Binary to Byte
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int a 100;
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#include <stdio.h>

int main () {

int c[5]
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k < 5;

(int k = 0;

for

Q
printf ("value of c[%d] = %d; address is TP\n", \

k, clkl, &C[k]);
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return 0O;
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value of c[1] 2,; address

value of c[2] 0O, address

value of c[3] = 8; address

value of c[4] = 9, address
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float a;
scanf (“%f£”,
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1 int a = 100; // a 2 F&& 2560|2F 7HH

2 int *pa; // ZQIH Ha MO

3. // LHE =285 &Y

4 pa = &a; // EQIH H=0 a2 =4 HE
1 31... ...0 2 31... ...0 3 31...
300 300 300

304 100 a 304 100 a 304 100
308 308 308

312 312 312

316 316 pa 316 &a =304
320 320 320

324 324 324

328 328 328
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int a = 100, b = 200,
int *pv;
printf (“$p\n”, pv = &a);
printf (“$p\n”, pv = &b);
printf (“$p\n”, pv = &c);
31... .0
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1 1int a;

2 int *pv = &a, *pu = &a); //pvel pvEall TA 1045 HE
3 printf (“$d\n”, *pu = 400);
4 printf (“%d, %d\n”, a, *pv);
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int a; // a8l W42 o0, FLE 8
int *p = &a; // pll FAE= 8
printf (“sp “, *p); // o0& =H
printf(“%p “, *******p); // 1% %
printf (“%p V%, ****p); // 45 SHEH
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void EFQI T} B 37|9to| THA
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oo mef void EtY BE
CHE EtRIC=E F A8 (casting) OFY] ALE

floatdH E—T— agf bS intYC=E 7Hﬁ%:!
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int a = 100;
double b = 300;
int c[2] = {1, 2};

int *pa = &a;
double *pb = &b;
int *pc = &c[0];

volid *k;

k = &a;
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31...

100

300

500

504

512

500

c[O]
c[1]
pa

pC
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int a = 100;
double b = 300;
int c[2] = {1, 2};

int *pa = &a;
double *pb = &b;
int *pc = &c[0];

volid *k;

k = &a;
printf (“$d\n”, *(int*)k);
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int a = 100;
double b = 300;
int c[2] = {1, 2};

int *pa = &a;
double *pb = &b;
int *pc = &c[0];

volid *k;

k = &a;
printf (“$d\n”, *(int*)k);

k = &b;
printf (“$d\n”, * (double*)k);
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31...
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512

c[O]
c[1]
pa

pC
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int a = 100;
double b = 300;
int c[2] = {1, 2};

int *pa = &a;
double *pb = &b;
int *pc = &c[0];

volid *k;

k = &a;
printf (“$d\n”, *(int*)k);

k = &b;
printf (“$d\n”, * (double*)k);

k = &c[0];
printf (“$d\n”, *(int*)k);
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int c[4] = {1, 2, 3, 4};
int *pc;
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pc = &c[0]; // c[0]18 F=&
pc = &c[l]; // cl[1]18] =&
pc = &c[2]; // c[2]18 F=&
pc = &c[3]; // c[3]1% F&
ELOIH A4HZ O|8ch HIE B
pc; // cl[012 FT&

pc+l; // c[119 F&
pc+2; // c[219 Fa
pc+3; // c[319 F&
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